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( ) ( )
No 236 No 242 Oo0O0 0O 000 0o
+47.290 +33.890
000o0 0.528m3 sec
¢ 900mm 6.00m
0.830m sec
286.60m 1.04Mpa 1.48Mpa
1 Khil 0.21 0.25
— 2 Kh2 0.72
2 Kh2 0.36 Kh2/2
85° 50’ 82° 15’ 78° 20’
2 T x 3
T
¢ 1000mm L=13.5 31.0m
[ O
O | 15 ( )
57 2
4200m3 sec 128.610 m 118.006m
41.00m 278.646 m 1.20
4.3 129.810 m

950
|

006
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O O OO0

Tt

1500 N/m2

900A

3000 N/m2

47.474m+45.900m

1 Kh1=0.21 0.25

45.810m+46.580m

46.610m+46.420m

Kh2 =0.60 0.70

Kh2 =0.62 0.72

1.48MPa

2 Kv2=0.30 0.36

STPY400(JIS G 3457)

SM490(JIS G 3106) 1300 N/m2
SS400(JIS G 3101) -10 +40
WSP007-99
49.0 N/mm2 < 140 N/mm?2 1-2 1/350 < 1/350
28.7 N/mm2 < 140 N/mm? 2-3 1/423 < 1/350
36.4 N/mm2 < 140 N/mm2 1-2 1/387 < 1/350
8.2 N/mmz < 80 N/mm2 2-3 1/468 < 1/350
10.0 N/mm2 < 105 N/mm2 135 N/mm2 < 278 N/mm2
PIPE 155.9 N/mm2 < 175 N/mm2 208 N/mm2 < 210 N/mm?2
FLG -163.9 N/mm2 < -175 N/mm2 175 N/mm2 < 296 N/mm?2
WEB -142.5 N/mm2 < -160 N/mm?2 182 N/mm2 < 278 N/mm2
PIPE -214.9 N/mm2 < -250 N/mm?2 226.3 kN
FLG 202.3 N/mm2 < 231 N/mm?2 64 N/mm2 < 210 N/mmz2
WEB 176.3 N/mm2 < 231 N/mm2 13 N/mm2z < 120 N/mm?2
PIPE 138.5 N/mm2 < 158 N/mm?2 166.5 kN
FLG -145.7 N/mm2 < -157 N/mm2 28 N/mmz < 210 N/mmz2
WEB -126.4 N/mm2 < -144 N/mm?2 6 N/mm2z < 120 N/mmz2

135.2 N/mm2 < 175N/mm?2

133 N/mm2 < 210 N/mm?2

194.2 N/mm2 < 231N/mm?2

1.8 N/mm2 < 2.1 N/mmz2

118.6 N/mm2 < 158N/mm?2

56 N/mm2 < 90 N/mm?2
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A




Al

(N/mm?)
<
As 794 2 0 Cc=2.8<12.0
M{N m) | 36 S D16ctc250 HE < Ps
KN/m® 20 1 - 330 < 614
_— _ Mo < Mu
KN/ 500 ) 0 $=140.2<300 153 < 317
KN/m? -— 350 T <T a
KN/m? S(kN) | 38 500 0.23<1.35
T =0.11<0.44
KN/m® 19
30
2
KN/ _4001 oc 0.2 8.0
m _2-00 M(KN m) | 13 = As 794 2
. = D16ctc250
B(0-85) ) os 16 160
T(S) 0.316 1050
Kh 0.25 S(KN) | 87 1200
Kh 0.23 T 0.09 0.15
Kh 0.20
T(S) 0.316
Khc —
KhCO 1_00 AS 5218 2 oOcC 3.4 12.0
Khc MCKN m) | 1768 2 D22ctc250
o™
Khco 0.92 o ( )
Khc ) Gs 178.8 300
Khco 1.07
Khc - 1350
Khco 0.88 S(KN) | 827 1500
(E) KN/m? T 0.18 0.27
(E) KN/m?
KN 220
KN 0
KN 0 As 9313 2 oc 0.5 8.0
KN/ 050 MCKN m) | 669 10 D25ctc250
KN 140 4 o
Em — y | ¢ os 41.1 160
KN —
KN S(KN) | 1640 206350
KN T 0.20 0.82
S 432 446
SE
SEm — _
Sp — MO m | 958 As 9313 2 o c=0.8<12.0
3300 5 0 D25¢ctc250 2
Lo
~ M < My
KN/ 1021 2970 ) 0 S=58.8<300 3616 < 5691
3.57 15.0 g s o
N/mm? 66 160
scny | 2979 1850 5111 < 10241
KN/ 1691 4520 2000 T =0.36<1.24
7.61 15.0
N/mm? 265 300 _
<My KN m/ 937<1209 6 M(KN m) 670 D32-16 o0 c=10.0 12.0 2
N<Ry KN/ 2756<9440 B
S<Ps KN 29514016 SNy | o D16 0 $=265.0 300
o FO m 0.019 (0.40) T =0.00 0.58
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P1

(N/mm?)
As 873 2 0 ¢=0.01<12.0 2
MCkN'm) |3 = D16ctc250
KN/ 20 = Md  Mu
, 1 S9 P6576
KN/m2 500 ( ) o s=1.5<300 28 1313
KNZ/m?
2250 T T max
KN/m? S(kN) 9 0.01 3.2
2400 T =0.00<0.16 ’ ’
KN/m® 19
30
2
KN/m 130204 - 0 c=5.6 12.0 5
m =5 469 MCKN m) | 5297 1.5
I o D29 52 () WKhc  Pa
o
B(0.85) 1 Q S D22 26 ()
- ) | ) N N D19 0 s=115.3 300 706 1195
S
T(S) 0.507(0.733) & 1009 1198
Kh 0.21 S(KN) | 561
Kh 0.21 1 =0.13 0.41
Kh 0.17
T(S) 0.588(0.891)
;:E; 8'32 As 5157 2 ogc 2.0 12.0 2
Khc 0.48 M(KN m) | 1758 = D19ctc250
Khco 0.85 5 1) RQ MMy
Khc 0.68 ) 2281 3047
200.2 300
Khco 1.75 ) oS (P237)
Khc 0.70 ( ) 1780
Khco 1.75 S(KN) | 3108 2000
() KNZ/m? T 0.39 1.41
(E) KNZ/m?
KN 680
Em 8 0c=8.9 12.0
N 5 L | MCN m) | 569 ots ,
KN 70 A
KN 150 ( ) =
KN 340 ( ) D16 0 $=227.8 300
KN 630
KN 340 S(KN) | 0.17
KN 630 T =0.00 0.56
S 433 1035
SE
SEm -
SB
3300
KN/ 1051 2950
0.10 15.0
N/mm? 14.6 160
KN/ 1927 4470
3.41 15.0
N/mm? 227.8 300
M<My KN m/ 1182 1148( )
N<Ry KN/ 5405 9220( )
3 FO m 0.028 (0.40) ()
a «a rad 0.01186 0.0200( )
S Ps KN 2837 3970( )
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P2

(N/mm?)
As 873 2 0 ¢c=0.04<12.0 2
M(kN m) | 16 = D16ctc250 o
3 — u
KN/m f%i 1 — 45 947
KN/T7 500 ) ) o $26.2<300 > Ps
KN/ ( ) 175 1751
_— 3098 T T max
KN/mZ -—- S(kN) 62 0.054 3.2
3248 T =0.02<0.13 | |
KN/m® 19
30
2
KN/ e - 0 c=6.92 12.0 2
3 I -15-139 MCKN m) | 6287 1
. D32 52 WKhc Pa
g(o 85) 1 g 8 D22
- ) | ) Q N 0 5=163.9 300 625 905
O] 0.644(0.819) M 861 907
Kh 0.21 S(KN) | 606
Kh 0.21 1 =0.14 0.38
Kh 0.17
o) 0.886(1.026)
;:E; 8'32 \ As 5157 2 oc 2.41 12.0 2
Khc 0:45 . M(KN m) 2134 § D19ctc250
Khco 0.85 < M M
Khc 0.60 )y f ) ) 5s 243.0 300 2608 3%47
Khco 1.75 ) (P237)
Khc 0.62 1780
Khco 1.75 ( ) S(KN) | 3368 2000
(E) KN/m? T 0.42 1.38
() KN/
KN 430
o 8 0 c=11.3 12.0
Wi 5 L | MK my | 722
N 50 . D29-18 2
KN 100 ( ) _
N e 3 D16 0 5=281.4 300
KN 430
KN 215 S(KN) | 0.10
KN 430 1 =0.00 0.56
S 433 445
SE ——-
SEm ——-
SB ——-
3300
KN/ 1263 2550
0.16 15.0
N/mm? 16.6 160
KN/ 2197 3870
3.81 15.0
N/mn? 281.4 300.0
M<Ny KN m/ 983 1167( )
N<Ry KN/ 4923 7980( )
3 FO m 0.016 (0.40) ( )
a «a rad 0.00852 0.0200( )
S Ps KN 2536 3978( )
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P3

(N/mm?)
As 873 2 0 ¢=0.01<12.0 2
MGN-m) |3 = D16ctc250 .
3 — u
KN/ 2 ) - 10 676
KN/m? 500 ) ( ) 0 s=1.5<300 23 5213
KN/n? ——-
2250 T T max
KN/ S(KN) 9 0.01 3.2
2400 T =0.00<0.16 | |
KN/ 19
30
2
KN/ 150112 - G c=6.6 12.0 2
)) m 11577 M(KN m) | 6966 1.5
R o o D32 52 () WKhc Pa
B(0.85) 1 S S D32 26 ()
) ) N < D22 0 s=133.3 300 805 1234
o) 0.952(0.883) S = 1150 1238
Kh 0.21 S(KN) | 644
Kh 0.21 1 =0.15 0.43
Kh 0.17
T(S) 1.161(1.074)
Khc 0.49 i
Khco 0.85 As 6967 * oc 2.3 12.0 2
Khc 0.50 M(KN m) | 2300 8 D22ctc250
Khco 0.85 5 1) RQ MMy
Khc 0.70 ) 3547 4094
os 195.1 300
Khco 1.75 ( (P237)
Khc 0.72 ( ) 1780
Khco 1.75 S(KN) | 3713 2000
6) KN/n? T 0.46 1.48
(E) KN/m?
KN 630
Em 8 o c=10.7 12.0
i 5 L | M) | 764 s ,
KN 110 4 )
KN 150 ( ) _
KN 553 ( ) D16 0 s=252.4 300
KN 630
KN 553 S(KN) | 0.08
KN 630 T =0.00 0.59
S 433 1035
SE _—
SEm -
S8 _—
3300
KN/ 1310 2810
0.15 15.0
N/mm? 16.7 160
KN/ 23674270
3.95 15.0
N/mm? 252 300
M<My KN m/ 1280 1364( )
N<Ry KN/ 6209 8800( )
3 FO m 0.019 (0.40)( )
a «a rad 0.01031 0.0200( )
S Ps KN 2983 4056 ()
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P4

(N/mm?)
As 873 2 o0 ¢=0.04<12.0 2
M(KN m) | 15 o D16ctc250
S Md  Mu
KN/m® 20 1 — 45 947
KN/ 500 ) E g 0 $=5.7<300 17Sé F’15751
KN/m? ---
3098 T T max
KN/m? S(kN) 57 0.05 3.2
3248 T =0.02<0.13 R
KN/ 19
30
2
KN/m 15O134 - 0 c=6.8 12.0 2
)) m e M(KN m) | 6145 1
A o D32 52 WKhc  Pa
o S D22
B(0.85) ) | 1) J Z 0 $=158.9 300 620 904
() 0.634(0.802) M 855 906
Kh 0.21 S(KN) | 607
Kh 0.21 1 =0.14 0.38
Kh 0.17
T(S) 0.875(1.010)
;ﬂg; 8-;2 As 5157 2 oc 2.25 12.0 2
e 044 M(KN m) | 1986 = D19ctc250
Khco 0.85 5 1) RQ MMy
Khe 060 ) 2055 2231
226.1 300
Khco 1.75 ) oS (P237)
Khc 0.62 ( ) 1780
Khco 1.75 S(KN) | 3434 2000
) KN/n? T 0.43 1.40
(E) KN/n?
KN 420
Em 8 0c=9.9 12.0
R 5 L | Menmy | 635 ots ,
KN 50 A
KN 90 ( ) =
o - ; D16 0 s=261.1 300
KN 420
KN 210 S(KN) | 0.13
KN 420 1 =0.00 0.56
S 430 445
SE
SEm —
SB
KN/ 1152 2740
0.16 15.0
N/mm? 15.1 160
KN/ 2123 4150
3.74 15.0
N/mm? 261.1 300
M<Ny KN m/ 929 1151( )
N<Ry KN/ 5045 8600( )
> FO m 0.016 (0.40)( )
a «a rad 0.00796 0.0200( )
S Ps KN 2552 3972( )
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PS5

(N/mm?)
As 873 2 o ¢=0.01<12.0 2
M(kN'm) |3 o D16ctc250
KN/ 20 = Md  Mu
1 - 9 676
KN/m? 500 ) ( ) o s=1.5<300 2? 5213
KN/m? -—=
2250 T T max
KN/2 S(kN) | 9
2400 T =0.00<0.16 0.01 3.2
KN/m3 19
30
2
KN/m 150085 - 0 c=7.0 12.0 5
)) 0 11550 M(KN m) | 6660 1.5
A . o ° D29 52 WKhc Pa
B(0.85) 1 g S D29 26 _
) ( ) N ~ D22 o s=151.3 300 745 1075
S =
7(S) 0.580(0.827) 1063 1078
Kh 0.21 S(KN) | 641
Kh 0.21 T =0.15 0.41
Kh 0.17
7(S) 0.698(1.039) \
;:E; 8'32 As 5157 2 ogc 2.6 12.0 2
Khc 0:47 M(KN m) | 2311 8 D19ctc250
Khco 0.85 5 1) RQ MMy
Khc 0.65 ) 2819 3047
263.2 300
Khco 1.75 ) oS (P237)
Khc 0.67 1780
Khco 1.75 ( ) S(KN) | 3487 2000
(E) KN/ T 0.44 1.36
(6) KN/2
KN 690
Em 8 o c=10.7 12.0
KN/ 0 1 M(KN m) | 767
KN 70 A D32-18 2
KN 150 ( ) _
KN 345 ) D16 o0 s=253.1 300
KN 690
KN 345 S(KN) | 0.22
KN 690 T =0.00 0.59
S 437 1035
SE -—-
SEm -—-
SB -—-
3300
KN/ 1178 2980
0.12 15.0
N/mm? 14.7 160
KN/ 2150 4530
3.09 15.0
N/mm? 253.1 300
M<My KN m/ 1131 1345( )
N<Ry KN/ 5485 9340( )
5 FO m 0.017 (0.40)( )
a «a rad 0.00871 0.0200( )
S Ps KN 2796 4050( )
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A2

(N/mm?)
<
As 794 2 0 €=2.2<12.0
M{N m) |29 S D16ctc250 HE < Ps
KN/m® 20 1 - 345 < 603
_— _ Mo < Mu
KN/ 500 ) 0 s=112.9<300 160 < 311
KN/m? -— 350 T <T a
KN/m? S(kN) | 33 500 0.24<1.35
T =0.09<0.44
KN/m® 19
30
2
KN/ —4081 oc 0.4 8.0
. 5700 MCKN m) | 84 = As 794 2
. S D16ctc250
B(0-85) ) os 56.9 160
T(S) 0.302 1935
Kh 0.25 S(KN) | 99 2085
Kh 0.22 T 0.05 0.12
Kh 0.20
T(S) 0.302
Khc —
KhCO 1 OO AS 5123 2 oOcC 3.9 12.0
Khc M(KN m) | 1999 3 D22ctc250
o™
Khco 0.92 o ( )
Khc ) Gs 206.9 300
Khco 1.07
Khc - 1350
Khco 0.88 S(KN) | 977 1500
(E) KN/m? T 0.22 0.27
(E) KN/m?
KN 230
KN 0
KN 0 As 9145 2 oc 0.48 8.0
KN/ 0 50 MCKN ) | 583 N D25ctc250
KN 130 4 o
Em — y | ¢ os 36.5 160
KN —
KN S(KN) | 1617 203350
KN T 0.20 0.82
S 437 444
SE
SEm — _
SB ___ M(KN m) a1 AS 9145 2 o c=0.3<12.0 ,
3300 5 N D25ctc250
Lo
< M < My
W %Og; ‘11288 ) | ( 0 $=25.7<300 3146 < 5588
N/ 35.9 160 S<Ps
- scny | 2808 1850 5233 < 10057
KN/ 1642 6810 2000 T =0.35<1.24
5.37 15.0
N/mm? 230.4 300 :
Vi<l KN m/ 631<819 . M(KN m) | 326 D22-18 0c=6.6 12.0 2
N<Ry KN/ 2855<14140 B
S<Ps KN 3219 3764 SNy | o D16 0 5=230.4 300
5 FO m 0.018 (0.40) T =0.00 0.48
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v K/ 20 KN/m? 9.8
, KN/m? 19 12.90
p 0 KN/n?
15.76
K, Ui 7.96
\Y
v i 0.00
\Y 11.94
m 0.650 KN/m?
0.914 KN/m?
m 0.914 KN/m? q 29.9 kKN W,
) 0.318 kN/m2 g 300 KN W,
(m) 0.368 q o0a 0K kKN W
m 0.318
m
KN m 3.4 1.7 9.1
kN 13.9 0.0 48.9
kN 21.1 9.7 7.8
. N/mn? 0.50 1.73 1.76
s N/mr? 8.48 84.21 79.24
T, N/mn? 0.06 0.00 0.00
0w N/m? 8 8 8 o ck=21N/mm?
Ow N/mn? 160 160 160 SD295A
T N/mr? 0.36 0.36 0.36
s m? 506.8 506.8 506.8
in m? 500.0 500.0 500.0
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i
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NO

1.1

1.2

15-4-2




|

15-4-3




1/4

NO

2.1

15-4-4




2/4

NO

2.2

15-4-5




3/4

NO

Khe

Cs

Khe

Cs

(@] (@]
el e 2.2
Y I e e L iiiib
(@] (@]
2 o o
(@] (@]
(@] (@]
_ _ _ _ 2.3
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4/4

NO (

o o
o o
o o

2.3
( ) o 0
o o
o o
o o
o o
o o

o o 2.4
o o
o o
o o

6 o o 2.5
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| L
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1/2

NO

3.1

3.1

15-4-9




2/2

NO

3.2

3.3

3.3

3.3

AGRIS

AGRIS

3.3

15-4-10




15-4-11



15-5



15-5-1




1/2

H14.3
H14.3
H8.11
H4.10
WSP H11.6
WSP H9.9
H3.12
| [
286.60
| ] 6 45.900m 47.474m
¢ 900mm
[ |
| [
| [
( ),
[ |
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2/2

Kv2=1/2Kh2 0.30 0.36

m YES 0ONO
63
5 4.3
60° 78° 20'  85° 50’
| ——] vy =19KN/m3 ¢=0 ¢ =30° P41
A ( ), Al )
1 , 2 P5
Khl 021 025
Kh2=0.60 0.70, Kh2=0.62 0.72,
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m YES 0ONO P70
m YES 0ONO P71
4.2mm
m YES 0ONO P39
m YES 0ONO P14
m YES 0ONO P14 , P80
m YES 0ONO P81
PC
PC P31
15
m YES 0ONO P33
m YES 0ONO
(KN/ )

15-5-4




P23

=qu/2

¢ =15+V 15N
45,(N  30)

¢ =15+V 15N
45,(N  30)

¢ =15+V 15N
45,(N  30)

C=qu/2

m YES ©ONO

(H.8.11)
P3

15-5-5




P.6-3
P.6-6 P6-3
P6-6
P.6-3 P.6-6
Cz=lA2d [B:0.85 e84 P19
Kh=Cz Kho 0.1 0.1 P83
Khe=Cs Cz Khco
0.3 0.6 P89 P91
hc x W Pa P99
1/100
40cm 0.025rad
FL 1.0
FL 1.0
Fc 35%or Ip 15
D50 10 10%

15-5-6




P139
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P43

® ®
o 3 0
B 06 [ | 239
m YES ONO P.38
m YES ONO P.249
e BJ/6
P.266
e B/3
SF=1.5
P.280
SF=1.2
SF=3
P.269
SF=2
KV=a Ap Ep/L KN/m P.373

(

) | a=0.014(L/D)+0.72

(
)

a=0.017(L/D) 0.014

a=0.031(L/D) 0.15

a=0.010(L/D)+0.36

a=0.013(L/D)+0.53

a=0.040(L/D)+0.15
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P.353

3 4
2 3
P.364
3
10 m YES O NO P.419
2 P.419
150 m YES O NO
0.2 m YES O NO P.419
m YES O NO P.419
D22 m YES O NO P.419
6 m YES O NO P.419
P.294
m OK 0ONG P.294
m OK 0ONG P.296

15-5-9




mOK ONO P.301
mOK ONO P.303
mOK ONO P.303
mOK ONO P-303

B
mOK ONO
1.25D 1.00D
2.50D P.352
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P.197 , P198

m OK [ONG
1/2
m OK ONG
m OK 0O NG
13mm m OK 0O NG
1/3
300mm
m OK ONG
m OK 0O NG
m OK 0O NG
600 1
m OK [ONG
m OK [ONG
40
m OK [ONG

15-5-11




1

O ]
2)
| | P.149
4
m OK 0O NG P17l
¢ 13m/m
15cm m OK 0ONG P.186,P.187
400 P.169,P.170
m OK [ONG
m OK [ONG P.186
1.0m
m OK [ONG P.187
400 = OK 0O NG P.170,P.174
2)
m OK [ONG
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m YES

0O NO

m YES

0O NO

m YES

0O NO

m YES

0O NO

m YES

0O NO

15-5-13




m YES

O NO

m YES

0O NO

m YES

O NO

m YES

O NO

m YES

O NO

m YES

O NO

m YES

O NO

m YES

O NO

m YES

O NO

O YES

O NO

O YES

O NO

m YES

O NO

m YES

O NO

m YES

O NO

m YES

O NO

m YES

O NO

m YES

O NO
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m YES ONO

m YES ONO

m YES ONO

m YES ONO

OYES ONO

m YES ONO

m YES ONO

m YES ONO

m YES O NO

m YES ONO
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AGRIS

2-1128

m YES ONO 2-1182
= YES ONO o
m YES ONO
OYES = NO
m YES ONO 2-930
m YES ONO 2-933
m YES ONO 2-989
m YES ONO 2-989
m YES ONO
m3
m YES ONO

AGRIS AGRIS AGRIS m YES ONO
m YES ONO

15-5-16




